
© Copyright by BERNINA International AG  2016|02 0371575.0.00 

Additional material
Any tools which are needed for the 
assembly are included in the 
delivery content of your quilting 
machine.

Zusatzmaterial
Alle für die Montage benötigten 
Werkzeuge befinden sich im 
Lieferumfang Ihrer Quiltmaschine.

Outils de montage
Tous les outils de montage sont 
compris dans la livraison de votre 
machine quilt.

Ulteriori accessori
Tutti gli strumenti necessari per il 
montaggio fanno parte degli 
accessori standard della macchina 
per quiltare.

Material adicional
Todas las herramientas necesarias 
para el montaje se encuentran en 
el volumen de suministro de su 
máquina Quilt.

Aanvullend materiaal
Het voor de montage noodzakelijke 
gereedschap bevindt zich in het 
leveringspakket van uw 
quiltmachine. 

Extramaterial
Alla verktyg som behövs för 
montering levererades med din 
kviltmaskin.

Ekstra tilbehør
Alt det nødvendige værktøj til 
montage,  finder du i tilbehøret til 
din quiltmaskine.

Tilleggsmaterial
Alt verktøy som trenges for 
montering finner du i samlet 
leveranse for din quiltmaskin.

その他の必要な物

取り付けに必要な全ての工具は、キル

トマシンに付属しています。

Additional Shelving 
Zusatzablage | Surface de rangement supplémentaire

5 SW

3x
m

o

B 4.

C 1. C 2.

2x q
2x r

3x r

C 3.

C 7.

5 SW

p

C 8.

C 4.
i

Classic Frame option r+r+rLarge Frame option q+r+r+q

i

B 2. 4x Large
6x Classic

B 3.

5 SW
n
o

4x Large
6x Classic

r

r
q

qm4x Large
6x  Classic

q

r

r

r
n

right/left

n
n

h

i

i
i

i

6 SW

C 6.
left

6 SW

C 5.
right



A C

B

C

C

Classic Frame Large Frame

a 2x 2x
b - 2x
c 1x -
d 4x 6x
e 16x 24x
f 2x 2x
g 8x 12x
h 8x 12x
i 12x 10x
k 2x 2x
l 2x 2x
m 12x 10x
n 10x 8x
o 8x 6x
p 1x 1x
q - 2x
r 3x 2x

a

c

b
b = Large Frame option

d

f

i

h

l

m

n: M6x14

op
q

r

e: M6x30
af2x

A 1. 

A 5.

c = Classic Frame option

l

i

k
A 7.

i

A 6.

r

r
q

q

B 1.

a c a

a b b a

A 2.

! d

e
gh

A 3. 3. A

4 SW

A 4.Classic Frame option

Large Frame option

right/left right

g: M6x40

k: M8x50

Classic Frame option

l

i

k
A 8.

3x Large
2x Classic

4x

h g

5 SW

i o

n
n

oi

left




